ENGINEERING MECHANICS | MAIT

Tutorial no.: 4
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A design model for a transmission-line tower is
shown in the figure. Members GH, FG, OP, and NO
are insulated cables; all other members are steel bars.
For the loading shown, compute the forces in mem-
bers FI, FJ, EJ, EK, and ER. Use a combination of
methods if desired.

Ans.FI = ER = 0,FJ = T81 kN T
EJ = 361 kNC,EK = 224 kN C

Q.2

Determine the forees in members GH and Clr lor
the truss loaded and supported as shown. Does the
etatical indeterminacy of the supports affect vour
ealeulation?

Ans, OG = TOTENT,GH = 100 kN T, No

mm 4m‘4m|4m 4m 4m

4m : 4m 3 4m F

4 m s 4m Cc 4m \('
50 kN )

Q.3

Find the forces in members EF, KI., and GL for the

Fink truss shown.

Ans. EF = 75.1 kKN C, KI. 40 kKN T

G L 20 kN T
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The tower for a transmission line is modeled by the
truss shown. The erossed members in the cenler see-
tions of the truss may be assumed to be capable of
supporting tension only. For the loads of 1.8 kN ap-
plied in the vertical plane, compute the forees in-
duced in members AB, DB, and (D

Ans. AB = 389kNC. DB =0.CD = 0932 kN [

Q.5

[etermme the fotces in inembers B1, €1, and HT for
Uhe loeded truse, Al angles are 1, 60", or 97
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